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1.2022 # &% A B | £)TEA ABCH, SADTEAB ,BD = 2DAIECA = m,CD = n,JI|CB =( )
A3m—-2n B.—2m+ 3n C3m+2n D.2m+ 3n

2.(2022 2B T % - ZAHC AR Ra,bifi 2 |al = 1, |b] =V3,|a—2b| =3,lla- b =( )
A.—2 B.—1 C.1 D.2

3.(2022 4t E)FEA ABCH,AC = 3,BC = 4,4C = 90°. P A ABCHIEF-TH W K3 55, HPC = 1,
WUPA - PB A HUE i Il ( )
A.[-5,3] B.[-3,5] C.[-6,4] D.[—4,6]

4.(Z L) (2021 = A& 2B | K)CHIO PRI £, 5P, (cos a,sin @), P,(cos B,—sin B),
P3(cos (a + B),sin (a + B)), A(1,0),1( )

INAESTA B.|AP;| = |4P,| C.OA-OP, = 0P, -0P, D.OA-OP, =0P,-O0P;
[ #4F5]
B 1.(1) (2022 #&*E4E |1 £)E%la = (3,4),b = (1,0),c = a + th,#(a,c) = (b, c),lt =( )
A.—6 B.—5 C5 D.6

(2)(2022 b F # by W =A%) Tl a, b T N WA 3L 2R ) A L AB = a + Ab,AC = pa +
b, 2, u € RMA, B, C = pi JLER I 7 B4 AF 2 ( )

Al—u=1 BA+u=2 Clu=1 D-=1

32021 #FZ/HEALE |l H)CHfEa+b+c=0,]a|=1,|b|=|c|=2,a-b+b-c+c-a=

B 2. C PRI KN 2 (IESIEABCDEF W 1) — r, AP - AB IR 30 18] 2 ( )
A.(=2,6) B.(—6,2) C.(-2,4) D.(—4,6)



] 3.4/ A ABCH,CD = 2DB.
(1)%AD = xAC + yBC(x,y € R),Kx, yIfH; C
(2)#AC = 2V/3,BC = 3, 2ACB = 30°,3KAD - BC1I1H.

% 4.(2021 L TFH AT ERIKRF)CHIEC: (x —2)2 4+ (y —3)? = 4.
(DR EZLyY = x + n5BCHA T A B 5.3 CA - CB = 2,5R S8 f1H;
(2045 15 MAE UM AR JE A A B0, BL 1 R i B B BT A 4 B 15 P, QEEIC b SRMP - MQ 5%
/IMH.
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1.(2021 #ri K CadEE M Fa, b, c,W“a - ¢ = b - ¢”&“a = b IF)( )
AR ADVEZMYE  BAAERT %M C.RREHXM D.BEA Ty XA LB
2.(2021 N\ H BEAE ) CANA Ba, bl /2a - b = 0.4l Ec = V7a + V2b,lsin (a, ¢) =( )
A BV c¥ D2
3 3 9 9

3.(2022 ¥ g A AL O AN L LR IS W] S a, b, ¢ TN A AR SE, Holal = 1, |b] =
4,)la+ b+ c| =V7,M|c| =( )
AAN2 B.2 C.3 D.2 5 3

4.(2022 iz 7 7N A SLFN)EA ABCHLA = gﬁpﬁéﬁEﬁABi,,@EEé%E&ACt,E?v%EZAD =
DB = 2,AE = EC = 2,CD*XBE T'F,4AB = a,AC = b,JJAF - BC =( )
6 17 29 32
A.E B? C.? D.?

5.(ZkRR)(2021 L A F T A EA ABCH MAEBC I M, #AB = a,AC = b,I||AM| =( )

Azla—b| B|a+ bl C+y/2(@® +b?) — (a— b)? D-vVaZ + b?

6.(Z1)(2021 FALIK K 0 T Z4) L Hla, b 11 A Sl ?ﬂ%ﬁ‘]ﬂﬁ’l‘%ﬁf’tﬂ%,c fEiZ 1T W, H(a -

¢) - (b—c) =0l FHILEIL IERIA ( )
Ala+b|=1 B.la—b| =1 C.lc| <3 D.a + b, cJF S 25

7. (2022 2B ¥ & « A& A Ea bl A El’\]é%é'éﬁ?ﬂ%,ﬂlal=1,|b|=3,)rlU(2a+b)-

b= .
_— D
8.(2022 L A& F B = AWK £V ABCD Y ,£B = 60°,AB = 3,
BC = 6,HAD = ABC,AD - AB = — 2 ISE¥M Ny
B c

9. 41, IR O AR 2, ki PAE R O — 26 A2 0 AT £, BC 2[R 03t 55 P Bl 5.
(1)4PRBCHH I, 5KOB - OC [H1H;

(2)#% 0P = 210B + u0C, A, u € R,H.BP = 2PC. 1

DA, uh i “'!l.bc
R BOCHIH.
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10. 2 50°F i VUL FEABCD 1 ,AD 1 BD,AC L BC,HLAD = 2,AC = 5, RAB.DCII1H.
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